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OFQUXNXHEEH MEHSEA RIE>
900,000& * 1JH 4 900
301 dEtEAZ 2,700 2,700 0
09 HALAHIEA = 2,700 2,700 0
OXOZEA F=OXXAE ASuwIH|
2,700,000 2,700
ScletdEs X 123,080 122,830 250
301 dBtE A= 123,080 122,830 250
BCSE -0 -HEESEMNS 123,080 122,830 250
Ool&=¢ 118,080
-J|l2s4g 200,000& = 369 * 12& 86,400
-&0 2 200,000& = 369 * 23] 14,400
-3 NG
20,000& = 369 * 23 * 12& 17,280
OetEEAZ 50,000& * 100¥ = 13 5,000
TELHOU AU X 9,580 8,820 760
301 dEtE A= 9,580 8,820 760
04 Ar22EUHAL XA 9,580 8,820 760
OXsagdia Ad X 9,580
-0FAl B 3,000& * 4% = 1JHCH = 365 4,380
-2 2 eyl 100,000& = 1JHCH = 12& 1,200
PN E= NNl 4,000,000 * 1JHCH 4,000
SSANE A2 121,120 122,726 A 1,606
101 @124 7,960 7,366 594
04 JI2ZtH2Z2XNHEE 7,960 7,366 594
OAIJIXIEH & SSAI&22 ofd 7,960
=0 48,2403 + 198 « 150 7,236
-AMEBEE 28" =2 7,236,000& * 10% 724
201 et A | 89,000 79,760 9,240
01 AFR2 2t 2l dl 4,140 3,900 240
OEJ|otE 22| a2 120,000& * 12& 1,440
OFEIAHEC =22 150,000& * 23] 300
OagotMae] =2 150,000& *12& 1,800
O&=£xD| 22 € 2dU= 50,000& = 12& 600
02 3524t 84,860 75,860 9,000
O332=2 % HA 54,468
MO 2 2R3 2,500,000& = 128 30,000
M3 L FAX 22 180,000& * 128 2,160
-atgeety M3 360,000& « 12& 4,320
“FNENsSE 22 1,200,000& = 12& 14,400
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OFQUXXHEH HOls &8 8Z
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Od =zl 9,240
-LHEF A 24| 11,000& = 8AlI2H » 105 9,240
OAEZHl |X2eltl 18,090
-A2RX8I(1,612m") 1,500,000 1,500
-HAS2E 270,000& » 3700 2 9,990
“HM=8 olF2I 100,000& * 4CH 400
-Hla S AL 500,000& * 2JH 4 1,000
-H&ZH |X2el 200,000& = 20CH 4,000
—HEISEFNHE SEA 72
100,000& * 12& 1,200
P E=Fulg:] 2,745
-A~g3 =2 2,605,000 = 1CH 2,605
-XHEEAIEE 70,000& * 1CH = 23 140
307 2201 A 3,600 3,600 0
05 BIZHRI & 3 3,600 3,600 0
ORZHIAAE (HAHFRIXXIAE)
300,000& = 12& 3,600
401 Al HI L = THYI 5,000 32,000 A27,000
01 A& Bl 5,000 32,000 A 27,000
OHAMEA HIS4A &dEF X
1,000,000& * 1X 1,000
OHAMEA EctelE &X  4,000,000& * 14 4,000
405 XHoHF S HI 15,560 0 15,560
01 XL 2 ZF S| 15,560 0 15,560
OdAE e ¢ 320,000& * 3% 960
Oslo g EX(E0lA) #2 130,000 = 20K 2,600
OReia )| 2 12,000, 000& 12,000
SHARZANLFTA(A4HH) 210,386 207,364 3,022
L2AEASEFE 210,386 207,364 3,022
QlaoiZE & A 2AY 202,886 199, 864 3,022
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01 A& 8l 187,000 184,000 3,000
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25,000,000& 25,000
Ogd3el =2 Fdl 3 AH(L=110M)
25,000,000& 25,000
O&F2el =2 FHl 3 AH(L=180M)
20,000,000& 20,000
O &9el AT HHIZAH(L=200M) 25,000,000& 25,000
OY&4e| 02t & &2 I AH(L=150M)
28,000,000& 28,000
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10,000, 000& 10,000
OE2H H=&HH 4,000,000& 4,000
OE2 S A4 |XNE2H| 50,000,000& 50,000
03 Al =TI 15,886 15,864 22
OA7D FUASXAMY FRLOHY
123,000,000& * 0.72% 886
Otz % st&&Edl EdHldxt= 10,000,000 10,000
OM4&ZEH Xtz 5,000,000& 5,000
22 THAMY 7,500 7,500 0
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
2248 W2l 6,000,000& 6,000
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ORNS2gIRF&Y| 350,000& = 12& 4,200
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01 At = S F SHI 2,300 3,900 A 1,600
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